12400 Earl Jones Way

@ Louisville, KY 40299
rev-a-shelf.com
. . Customer Service: 800-626-1126
FoOoY®hD

INSTALLATION INSTRUCTIONS

PANTS RACK

TOOLS REQUIRED:

Do)

25 MIN

PARTS LIST
No. Description Qty.
A Pants Rack 1

#8 - 32 X 1/2" Wood Screws 4

B
CARE AND MAINTENANCE: c M6 X 6MM Euro Screws 4

Clean with a damp cloth and wipe
parts dry.

WATCH TUTORIALS OF OUR
PRODUCTS BEING INSTALLED

WWW.REV-A-SHELF.COM/VIDEOS

INSTALLATION INSTRUCTIONS: PANTS RACK IPSCSL-0521



STEP 1 FIG. 1

Disengage the inner member
slides from the unit by pressing
the release trigger up and pulling
the pants rack unit away from the
inner member slide (See Figure 1).

STEP 2
Mount the inner slide members Front Side View Back
to the cabinet; if using system

holes, attach them to the cabinet
sidewall using (4) M6 x 6mm euro
screws or measure, mark and pre- .

drill (4) holes ysing a 1/8" drill b,i,t 1-15/32" 1-15/64" 7.9/16" 564" 116" 1.1/32"
and attach using (4) #8-32 x 1/2 37mm  31mm 192mm 17mm 14mm 34mm
wood screws (See Figure 2).

( [GROICEEN)

- 1) e ~~=
9 ) 350 mm
For 14" deep cabinet
(D

STEP 3

Slide the pants rack onto the inner
member slides, being sure to engage the
soft-close mechanism (See Figure 3).

2 @REV-ASHELF Customer Service: 800-626-1126 | rev-a-shelf.com



® 12400 Earl Jones Way
Louisville, KY 40299
rev-a-shelf.com
Re u . A .SH€ L F Customer Service: 800-626-1126
FOoOoY®hD

INSTRUCCIONES DE INSTALACION / INSTRUCTIONS D’INSTALLATION
PERCHERO PARA PANTALONES / PORTE-PANTALONS

Herramientas requeridas:
Outils Requis:

Tiempo estimado de ensamblado:
Durée de l'installation:

25 MIN

Lista de Partes / Liste des Piéces

No. Descripcién / La description Qty.
A Perchero para pantalones / Porte-pantalons 1
B # 8 - Tornillos para madera de 32 X 1/2" 4
CUIDADO/ ENTRETIEN: Viis & bois #8 - 32 X 1/2 po
N o [t C Tornillos Euro M6 X 6mm 4
Limpie con un pafio humedo y Vi . M6 X 6
seque Ias partes. 1S europeennes mm

Nettoyez avec un linge humide et
essuyez les piéces pour les secher
complétement.

VER VIDEOS DE

INSTALACIONES DE PRODUCTOS
REGARDER DES VIDEOS
D’INSTALLATIONS DE PRODUITS

WWW.REV-A-SHELF.COM/VIDEOS

INSTRUCCIONES DE INSTALACION: BISAGRA DE COMPAS PARA CESTO DE ROPA

INSTRUCTIONS D'INSTALLATION: COMPAS A GLISSIERE POUR PANIER A LINGE HPsCsL0521



PASO 1/ ETAPE 1

Desenganche las correderas del
miembro interior de la unidad
presionando el gatillo de liberacién
hacia arriba y tirando de la unidad
del perchero para pantalones lejos
de la corredera del miembro interior
(Ver Figura 1).

Dégagez les glissieres des
membires internes de ['unité en
appuyant sur la gachette de
dégagement vers le haut et en
tirant le porte-pantalons pour
I'éloigner des glissiéres des
membires internes (voir la figure 1).

PASO 2 / ETAPE 2

Monte los miembros deslizantes
internos en el gabinete; si usa
orificios del sistema, fijelo a la
pared lateral del gabinete con (4)
tornillos euro M6 x 6 mm o mida,
marque y taladre previamente
(4) orificios con una broca de
1/8" y fijelo con (4) tornillos para
madera de #8-32 x 1/2" (Ver
Figura 2).

Montez les glissiéres intérieures sur
le meuble; si vous utilisez les trous
du systéme, fixez-les a la paroi
latérale du meuble a I'aide de (4)
vis européennes Mé x 6 mm ou
mesurez, marquez et pré-percez (4)
trous a l'aide d’une méche de 1/8
po et fixez-les a I'aide de (4) vis a
bois #8-32 x ¥z po (voir la figure 2).

PASO 3/ ETAPE 3

Deslice el perchero para pantalones
sobre los deslizadores del miembro

interior, asegurandose de activar el
mecanismo de dierre suave (consulte la
Figura 3).

Faites glisser le porte-pantalons sur les
glissieres de I'élément intérieur, en veillant
a engager le mécanisme de fermeture en
douceur (voir la figure 3).

FIG. 1

FIG. 2

/ Frontal Vista lateral
Vue de face Vue de cété

Atras
Arriere

37mm  31mm 192mm

1-15/32" 1-15/64" 7-9/16" 5/64" 1/16" 1-11/32"
17mm 14mm 34 mm

( o d

[§

D

D)

l J 0 =0

fe—

350 mm
Para gabinete de 14" de profundidad
Pour un meuble de 14 po de profondeur

@REV-ASHELF Customer Service: 800-626-1126 | rev-a-shelf.com




